Reason for converting limited liability company to partnership. 

   A.) Double taxation: Each partner is expected to file their profit or losses of the business on his own personal income tax . In the case of a company they are expected to pay companies income tax and their employees are also expected to pay personal income tax.

  B.) Limitation of operation : A company is formed based on a particular subject matter I.e they are limited to a particular course .  The memorandum of association limits the range of operations but in partnership the partners can carry out different range of operations.

  C.) Share of profit: In a company they are required to provide their shareholders with dividends after the financial year end thereby reducing their profit or salary , but in a partnership business the partners share both profit and losses among themselves.

  D.) Authority: In a partnership business all partners each have an authority and duty but in a limited liability company the authority of the shareholders is limited to the type of

shareholders. 

  E.) Lack or interference by shareholders : In a company the decisions to be taken are sometimes interrupted by the shareholders therefore making the decision making process lengthy . In the case of a partnership business there are no shareholders to interrupt the decision making process only the partners make the decisions.
